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101|R#A7 L 301 56 245 Kg |B)I 1,620 216|& 1l 2,484 432
102|357 L 1,553 1553| Kg BIE 1,593 555
111|&EEF £ 267 4 263 Kg |EE 756 S40 1,998 540
114|&5EFE 161 161| Kg I 2,970 2,000
117[1E 678 90 588| Kg | 2,700 648| L 3,996 540
134[#= 227 100 127| Kg |EE 2,400 1,300|& 1| 2,700 1,620
140(5 I 14 14| Kg b 34,560 19,440
147|E2 O 56 56| Kg fE 19,440 4,000
158|EIEA A LS 242 242|  Kg R 2,592 1,998
201{Lvb L 577 577| Kg BER 540 180
203|/hd L 4 4 Ke |= 270
205|3.3 L 248 248 Kg RI5 810 135
206| = 1F 335 335| Kg KI5 1,037 389
207|= A K 12 12| Kg imE 972
208| Mo % 187 187| Kg ML 3,240 648
210{1F AL 270 228 42| Kg |Ei 6,210 1,026 |1 7,560 1,080
212|&5E.3 Y 52 52| Kg ®e 3,078 1,836
252|L0AEECH 182 111 71| Keg |@H 4,212 2214|785 2,160
254|EDRECH 655 655| Kg ML 2,376 972
303|1A 220 6 6| Keg s 1,080
306|L & & Y 30 30| Kg BiE 1,296 972
315|7b 5 17 17| Kg = I 3,888 3,780
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3191 b o 76 76 Kg =1L 2,376 1,088
3321 WA =EF 169 169 Kg F 2,808 1,566
3BlHHY 25 20 Kg [%E 2,700 FEE 3,564 2,916
355(mp Y 90 90 Kg time - FE 1,188 600
356(L L& 58 58| Kg SER 1,512 864
357|7RE 9 9] Kg FEE 10,800 945
362(H & 14 141 Kg JtimE 7,776 1,620
401|H W 69 69 Kg Iz & 2,052 1,836
4025 E 365 365 Kg FAN 6,048 3,672
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5h4|E X BA AR 100 100[ Kg b 1,250
560|472 200 200| Kg =3 b 3,996 1,850
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70110 BA 409 409 Kg FJE 3,024 540
705|7=2< ¥ 5 5 Kg KR 1,620
710(2 2 AT 10 10 Kg =y 945
755(Fd L 39 391 Kg E=AES 1,044 637
56| £ 9 5 5] Kg SR 1,080
7611 b BHAEL 6 6] Kg AL 3,420
801|BHL =T 210 210 Kg ¥ - A 1,728 1,188
802|111 320 320 Kg 2yl 1,814 1,706
805 = 1E 144 1441  Kg bF 1,872 540
807 [1BHDF 6 6 Kg biF 5,076
810|FAKF 180 180 Kg bF 2,808 1,566
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